maschinenbau

Stand 08/25

Forstreich Bezeichnung

Forstreich
Art.Nr.

Anzahl

1 Ersatzspindel komplett mit Lagerung und 007-2020 1
Druckkeil-Alu
2 | Aluklotz 007-1003 1
3 | Federstahlblech TR30 001-1006 2
4 | Zylinderkopfschraube M6x25 DIN 912 10.9 007-1011 6
5 | Zylinderkopfschraube M8x16 DIN91 10.9 001-1009 8
6 |Scheibe @8,4 DIN 125 001-1010 8
7 | Handgriff 001-1011 1
8 Kegelschmiernippel 001-1012 1
9 | Druckkeil Kunststoff 001-1018 1
10 | Zylinderkopfschraube M8x55 DIN 912 10.9 001-1020 2
11 | Zylinderkopfschraube M6x16 DIN 912 007-1009 2
12 | Gewindemutter 007-1004 1
13 |seitliche Schutzplatte schwarz/grin 007-1015 2
14 | Linsenflachschraube M6x10 ISO7380F 007-1008 2




